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xU rkd;ghl;bd; jPu;itf; fhz;gjw;F mr;rkd;ghL cUthfpAs;s
Kiwiag; gw;wp mwpe;jpUg;gJ mtrpakhFk;.
fPNo jug;gl;Ls;s rkd;ghLfs; cUthfpAs;s Kiwiag; gw;wpg; ghu;g;Nghk;.
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x −
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x vd;Dk; vz;iz 2 My; ngUf;fp 3 If; fopj;Jg;ngWk; tpilia
5 My; tFf;Fk; NghJ tpil 1 MFk;.

  4
2

3 8
a

+





 =

a vd;Dk; vz;iz 2 My; tFj;J 3 If; $l;bg; ngwg;gLk; tpilia
4 My; ngUf;Fk;;NghJ tpil 8 MFk;.
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14vspa rkd;ghLfs;

 ,g;ghlj;ijf; fw;gjd; %yk; ePq;fs;
 ,uz;L tif milg;Gfisf; nfhz;l vspa rkd;ghLfisj;

jPu;j;jy;

 gpd;dq;fisf; nfhz;l vspa rkd;ghLfisj; jPu;j;jy;

 xU khwpapd; vz;uPjpapyhd Fzfk; rkdhfTs;s xUq;fik

rkd;ghLfisj; jPu;j;jy;

vd;Dk; Nju;r;rpfis miltPu;fs;.

   14.1 vspa rkd;ghLfisj; jPu;j;jy;

&gh 75

mk;khtplk; cs;s gzk;

vd;dplKs;s gzj;jpYk;

&gh 25 $bajhFk;.

&gh 50

kfdplk; cs;s gzk;

vd;dplKs;s gzj;jpd;

%d;wpnyhU gq;fhFk;.

mg;ghtplk; cs;s

gzk; vd;dplKs;s

gzj;jpd; %d;W

klq;fhFk;.

&gh 150

kfdplk; cs;s gzk;

vd;dplKs;s

gzj;jpYk; &gh.25

FiwthdjhFk;.
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y vd;Dk; vz;iz (((((−−−−−3) My; ngUf;fp 5 If; $l;b 2 My; tFj;Jg3) My; ngUf;fp 5 If; $l;b 2 My; tFj;Jg3) My; ngUf;fp 5 If; $l;b 2 My; tFj;Jg3) My; ngUf;fp 5 If; $l;b 2 My; tFj;Jg3) My; ngUf;fp 5 If; $l;b 2 My; tFj;Jg;

ngwg;gLk; tpilAld; 3 If; $l;Lk;NghJ3 If; $l;Lk;NghJ3 If; $l;Lk;NghJ3 If; $l;Lk;NghJ3 If; $l;Lk;NghJ tpil 4 MFk;.

,dp fPNo fhl;lg;gl;Ls;s rkd;ghLfspd; jPu;Tfisf; fhZk; Kiw

gw;wpg; ghu;g;Nghk;.

   
( )2 3

5

x −
= 1
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1x −
× == 1 × 5 (rkd;ghl;bd; ,Ugf;fKk; 5 My; ngUf;Fjy;)

           2x − 3 = 5

2x − 3 + 3 = 5 + 3 (rkd;ghl;bd; ,U gf;fKk; 3 tPjk; $l;Ljy;)

                2x = 8
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2
= (rkd;ghl;bd; ,U gf;fKk; 2 My; tFj;jy;)

                   x = 4
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cjhuzk; 14.1cjhuzk; 14.1cjhuzk; 14.1cjhuzk; 14.1cjhuzk; 14.1

cjhuzk; 14.2cjhuzk; 14.2cjhuzk; 14.2cjhuzk; 14.2cjhuzk; 14.2 cjhuzk; 14.3cjhuzk; 14.3cjhuzk; 14.3cjhuzk; 14.3cjhuzk; 14.3

jPu;f;f

jPu;f;f
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gapw;rp 14.1

1. gpd;tUk; rkd;ghLfs; cUthfpAs;s Kiwiar; nrhw;fspy; tptupf;f.
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3 5− = (ii) 3 + 2a = −1 (iii)
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2. fPNo jug;gl;Ls;s rkd;ghLfisj; jPu;f;f.
(i) 5x − 2 = 8 (ii) 3x − 4 = −10 (iii) 2x − 5 = x + 1

(iv)
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−
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(v) 5(a + 3) −2 = 8 (vi) 3(x − 1) = 2(x + 4)
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3. (i) fkyh vl;Lg; Ngidfis thq;Ftjw;fhf &gh 100 jhnshd;iw
fil cupikahsuplk; nfhLj;J &gh 4 I kPjpahfg; ngw;whs;.
xU Ngidapd; tpiy x vdf; nfhz;L xU rkd;ghl;il
cUthf;Ff. mjpypUe;J xU Ngidapd; tpiyiaf; fhz;f.

îi& vdJ jikadplk; cs;s gzk; vd;dplKs;s gzj;jpd;
,Uklq;fpYk; &gh 20 $bajhFk;. vk; ,UtuplKk; cs;s nkhj;jg;
gzk; &gh 120 MFk;.

(m) jk;gpaplk; cs;s gzj;jpid a vdf; nfhz;L jikadplk;
cs;s gzj;ij a apy; vOJf.

(M) xU rkd;ghl;bd; %yk; ,UtuplKk; cs;s gzj;ij
ntt;Ntwhff; fhz;f.

4. xU nrt;tfj;jpd; ePsk; mjd; mfyj;jpd; ,uz;L klq;fpYk; 5 cm

My; $bajhFk;. mjd; Rw;wsT 52 cm Mapd; nrt;tfj;jpd; ePsk;>
mfyk; Mfpatw;iwf; fhz;f.

5. xU rJuKk; xU rkgf;f Kf;NfhzpAk; cz;L. rkgf;f KfNfhzpapd;
xU gf;f ePsk; rJuj;jpd; xU gf;f ePsj;jpd; ,uz;L klq;fhFk;.
rkgf;f Kf;Nfhzpapd; Rw;wsT rJuj;jpd; Rw;wstpYk; 30 cm

$bajhFk;. rJuj;jpd; xU gf;f ePsj;ijAk; rkgf;f Kf;Nfhzpapd;
xU gf;f ePsj;ijAk; fhz;f.
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gapw;rp 14.2

milg;Gfspd; gpuNahfk;

(vspa milg;Gfis cgNahfpg;gJ gw;wp ehk; fw;Ws;Nshk;)
milg;Gfis ,LtJ gpd;tUk; Kiwapy; ,lk;ngw Ntz;Lk;.

[ { ( ) } ]

milg;Gfis ePf;Fjy;

cs;Ns mike;Js;s milg;gpypUe;J gbg;gbahf ntspNa mike;Js;s
milg;G tiu vspa milg;G       rq;fpyp milg;G      ,ul;il
milg;G vd;wthW milg;G ePf;Fjiyr; nra;a Ntz;Lk;.

5{3(x + 2) +2}= 10

milg;G ePf;fy; Kiw
5{3(x + 2) +2}= 10

5{3x + 6 + 2} = 10      (Kjypy; vspa milg;ig ePf;Fjy;)
                   5{3x + 8} = 10

        15x + 40 = 10

15x + 40 − 40 = 10 − 40

                15x = −30

                
15

15

30

15

x
=

−

                   x = −2

 jPu;f;f
(i) 2{2(5 − x) + 3} = −2 (ii) 3{3(x + 2)-2 (x - 1)} = 0

(iii) 5 + 2{x − 3 (1 − x)} = 7 (iv) 4 3
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milg;Gfspd; tiffs ;
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vspa milg;G rq;fpyp milg;G ,ul;il milg;G

> >

14.2 ,uz;L milg;GfSldhd rkd;ghLfisj; jPu;j;jy;

cjhuzk; 14.4

(rq;fpyp milg;ig ePf;Fjy;)
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,uz;L khwpfisf; nfhz;l gpd;tUk; Vfgupkhzr; rkd;ghl;Lr;
Nrhbiaf; fUJf.

MapDk;  x + y = 5 >  x − y = 1 Mfpa ,uz;L rkd;ghLfisAk;
jpUg;jpahf;Fk; ngWkhdr; Nrhb xd;W kl;LNk cz;L. mjhtJ x = 3

ck;  y = 2 ck; MFk;. ,it Nkw;Fwpj;j Nrhbr; rkd;ghl;bd; jPu;Tfs;
vdg;gLk;.
,uz;L khwpfisf; nfhz;l ,t;thwhd Nrhbr; rkd;ghLfs; xUq;fik
rkd;ghLfs; vdg;gLk;.
,dp ehk; Xu; xUq;fik rkd;ghl;Lr; Nrhbiaj; jPu;f;Fk; Kiwiag;
ghu;g;Nghk;.

14.3 xUq;fik rkd;ghLfisj; jPu;j;jy;

x +  y = 5 x − y = 1

x > y  vd;gd ,uz;L KO
vz;fshapd;> mjw;Fg; nghUj;jkhd
r py ngWkhdr ;  Nr hbfisf ;
ftdpg;Nghk;.

x > y  vd;gd ,uz;L KO
vz;fshapd;> mjw;Fg; nghUj;jkhd
r py ngWkhdr ; Nrhbfisf ;
ftdpg;Nghk;.

x y

' '

' '

-1 +6

0 5

1 4

2 3

3 2

4 1

' '

' '

x  + y = 5 vd;Dk; rkd;ghl;ilj;
jpUg;jpahf;Fk; ngWkhdr; Nrhbfspd;
vz;zpf;if vy;iyaw;wJ.

x y

' '

' '

6 5

5 4

4 3

3 2

2 1

1 0

' '

' '

x − y = 1  vd;Dk; rkd;ghl;ilj;
jpUg;jpahf;Fk; ngWkhdr; Nrhbfspd;
vz;zpf;if vy;iyaw;wJ.
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(i) jPu;f;f.
a + b = 2

a − b = −4

Kjypy; rkd;ghLfis ,dq;fz;L nfhs;tjw;fhf mtw;iwg; ngaupLNthk;.
a + b =   2  ——— (1)

a − b = −4  ——— (2)

Kiw I
NkNyAs;s rkd;ghl;Lr; NrhbapypUe;J  a, b Mfpa khwpfspy;

VNjDnkhd;iw mfw;Wtjd; %yk; mtw;iwj; jPu;f;fyhk;. ,jw;F> mfw;w
vjpu;g;ghu;f;Fk; khwpapd; Fzfq;fs; rkdhapUf;f Ntz;Lk;. rkd;ghLfisf;
$l;Ltjd; %yk; b I mfw;wyhk;. rkd;ghLfisf; fopg;gjd; %yk; a I
mfw;wyhk;.
(1) + (2)

a + b + a − b = 2 − 4

  2a = −2

2

2

2

2

a
=

−

    a = −1

,dp a apw;Fg; ngwg;gLk; ngWkhdj;ij Nkw;Fwpj;j ,uz;L rkd;ghLfspy;
VNjDnkhd;wpy; gpujpapl;L b apd; ngWkhdj;ij mwpayhk;.
a ,d; ngWkhdj;ij ^1& ,y; gpujpaply;

        a +  b = 2

      −1 + b = 2

−1 + b + 1 = 2 + 1

              b = 3

Kiw 2 (xg;gply; Kiw)

Kjypy; (1)> (2) Mfpa ,uz;L rkd;ghLfspYk; xNu khwp vOthahf
khw;wg;gLk;.
(1) a +  b = 2

a + b − b = 2− b

            a = 2 − b  ——— (3)

(2) a − b = −4

a − b + b = −4 + b

             a = −4 + b ——— (4)

,dp (3)> (4) vd;gtw;wpy; a ,w;Fg; ngwg;gl;l Nfhitfisr;
rkg;gLj;JNthk;.

cjhuzk; 14.5

a = −1

b = 3
MFk;.







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2 − b =  −4 +b

2 − b  + 4 =  −4 + b  + 4

       6 − b =  b

 6 − b  +b =  b  + b

             6 =  2b

              
6

2

2

2
=

b

               b = 3

ngwg;gl;l ngWkhdj;ij (1) ,y; gpujpapLNthk;.
(Njitahapd; (2) ,Yk;  gpujpaplyhk;)

a = 2 − b

a = 2 − 3

a = −1

Kiw I Kiw II
3x +  y = 5 ————(1)  3  + y = 5 ————(1)

x + y = −3 ————(2) ^1& ,ypUe;J y = 5 − 3x ————(3)

   x + y = −3 ————(2)

(1) − (2) ^2&  ,ypUe;J y = −3 −  x ———(4)

3x + y − (x + y) = 5 −(−3)

3x + y − x − y    = 5 + 3 ^3&> ^4& vd;gw;wpy; y Ir; rkg;gLj;jy;
                    2x = 8  5 − 3x = −3 − x

                   
2

2

8

2

x
=  5 + 3 = −x + 3x

                      x = 4          8  = 2x

          x = 4

x ,d; ngWkhdj;ij (2),y; gpujpaply;        x ,d; ngWkhdj;ij (1),y; gpujpaply;
x + y = −3 y  = 5 − 3x

4 + y = −3 y  = 5 − 3 × 4

      4 + y − 4= −3 − 4 y  = 5 − 12

       y = −7 y  = −7

cjhuzk; 14.6

a = −1

b = 3
MFk;.


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x = 4

y = −7
MFk;.
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

 x = 4

  y = −7
MFk;.


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gpd;tUk; xUq;fik rkd;ghl;Lr; Nrhbfis jPu;f;f.
1. a + b = 7 2. 2x − y = 7 3. 2a − b = 10

a − b = 3 3x + y = 8   a + b = −1

4. 3x + y = 7 5. x − 2y = −1 6.    p = 2q + 3

  x + y = 1 x − 5y = −6    p + q = 9

7. 7a −3b = 5 8. 3c − 2d = 5 9. 3m − 2n = −5

  a +3b  = 3 3c +   d = −1   n  − 3m= 1

10. 
x

y
2

3− =

 
x

y
2

5+ =

11. 
2

3
1

x
y− = 12.   

a

2
+ b   = 4

3
2

3
1y

x
− =   

a
b

2
2 1− =

gapw;rp 14.3


